{Q} PNEUTREND

B Speed Sanding Power Weight Air Consumption Noise (DB) Uncertainty(DB) Vibration  Ajr Inlet  Working Pressure
Technical RPM Paper (mm) KW/HP Kka/Ib LPM/ CFM LpA LwA  KpA KwA m/s* inch Bar / PSI
e G 0 W @ om W OB @ »
55027G e
4500  34vm0-1/2 O035(05)  13(29) 113(40) 94(105) <25 174  62(90)

Index No. Description Quantity Index No. Description Quantity Index No. Description Quantity
I

2 0-Ring 1 22 Cover Handle 42 0-Ring

4 End Plate A 24 Exhaust Control Spacer 44 Screw (M4*8)

6 Pin (w3*5) 26 Inlet Bushing 46 Bearing (686zz)
_—-_—-__-
Rotor Washer 48 Spring Pin (D3*18)
_—-_—-__-
10 30 Guard Body 50  Screw (M4*8)
-_ -__-
12 Ball Bearing (R6zz) 1 32 SetScrew (M4*5) 52 Screw (M3*8)
-_—-__-
14 Lever Pin (D3*23) 34 Block Slice 54 Lever Pin (D3*14)
_—-_—-__-
16 Valve Stem 56  Shoe 20
_—-_—-__-
18 0-Ring (2.2*d0.9) 38 Screw M6*16) Hesagon Wrenchen Key (2.5mm) 1
_—-_—-__-

20 Valve Body 40 Handle Screw 60  Sandpaper Band #100
* Due to our continuous improvement, all specifications are subject to change without prior notice. 2005



